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HISTORY-HONOURS

PAPER-HISA-V

Time Allotted: 4 Hours | Full Marks: 100
The figures in the margin indicate full marks. effee AT FE AT 20 [ w1
~ Candidates should answer in their own words SIS e IR Rl S N Y
- and adhere to the word limit as practicable. ¥ ' Bex A

GROUP-A
fett-&

L Answer any four questions from the following: 5%x4 =20

s c-Gieal b1l eivss Ted whes

(a) Why did the Revolt of 1857 fail?
St ea-a7 Rar 3¢ e @& 9
(b) What were the basic differences between Arya Samaj and Prarthana Samaj?
W F7e @ @A AR e & A F e o
(9.. Discuss the significance of the Morley-Minto Reforms (1909).
N A RIS TR (5505 )-a3 Bl STEsAl FCE
(d) What was the significance of the Lucknow Pact?

e piera Sles i N feet 9

(e) What role did the Khilafat Movement play in the formation of an Islamic
identity in India?

SRORI BRIt T Snaeiffele ot Retrrs wiewiea Fi i fefee
(f) Mention two main objectives of the First Five Year Plan.
/R0 SRS wifdaia 1 e o7 TrEd I

(g) How was the policy of Non-Alignment followed under the Prime Minister
Jawaharlal Nehru?

LAYANR TEZIEE (T (FPTY PN (&G ey NS spro 2w 9

(h) Write a short note on ‘Green Revolution’.

e Rei oo @3 fb s Fee Biet ean
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GROUP-B
emt-4

Answer any four questions from the following

fRafiRe @-ie o1aff 2vis Seg we

Discuss the character of the Revolt of 1857 in the light of the different
interpretations.

Rifew aE S Srea’-3 Reaites vRa vt st

How did the Aligarh Movement seek to reform Muslim Society in India?
Would you call it “Modernist’?

o s Serem SReR Piem e wER oufed ¢ o & @
G Y fAFORIAT T3 ?

What was the social base of the Moderates? Evaluate their contribution to
Indian National Movement between 1885 and 1905.

TaeEimE Aiee fofe & 2 svbre @ Shoe AET N SRS GO
ST O SR I

Critically examine the different trends in the Swadeshi Movement in Bengal.

QAR TN SR [T Gt FitEmaTEs s S

How did the Muslim League gradually got converted into an instrument of
full scale separatism?

Froi Ao e @ Fe epfor Riverstaitm 2feas e g ¢

Was the Quit India Movement a spontaneous outburst or an organised
rebellion? Did the use of violence by the people conform to the overall
Congress Policy of non-violent struggle?

o ol WevE & a3 Fospe Rrerd @t @l wafde Rz ¢ weee
Tod B TIRE FACH SR et 5w RS swpe arfes = &
Ol e A 2

Trace the growth of Working Class Movement in India between 1919 and

_1939.

4

YOO AT SH 0D R T SiHre =i @R Sirwe=a (e f[aad we)

Evaluate the role of Netaji Subhas Chandra Bose towards the liberation of

/" India from British rule.

10.

/' independent India.

3066

et =PTSRS Y& T (FCE (FOIE FOITH P G SFI F |

‘Assess Nehru’s contribution to the emergence of a Parliamentary System in

mﬁﬂ@mmﬁnwmmmwm:

20x4 = 80

20

14+6

10+10

20

20

10+10

20

20

20
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Time Allotted: 4 Hours o= 1f Full Marks: 100
The figures in the margin indicate full marks. 2N S 27 RIT T fag ¥
Candidates should answer in their own words Y3111 [eed ©IAE R NG I
and adhere to the word limit as practicable. Ber P!

Answer Question No. 1 and any four from the rest
> qR &Py AR ) CT-CIHITAL 51Af6 erve Tad wie
Group-A
fo-s
1: Answer any four questions from the following: 5x4 =20
fsferfRe @-ie 51afe @iees Ted nes
(a) How did Rousseau influence the French Revolution?
w0 et Tl Rerrs eroifde safeE™ ¢
(b) Examine Necker’s role as Finance Minister.
(c) What is meant by ‘Spanish Ulcer’?
‘Coo AR S TS FI @I 2
(d) What do you know about the ‘Karlsbad Decree’?
PRI (AR T I SHCA 2
(e) How did the Zollverein foster German nationalism?
“ (EETCSAIES ISR G SioeRITd elfesties Seafee ¢
(f) What was the Narodnik movement?
/AT SeieT 2
(g) What was Count Witte’s role in Russian industrialisation?
¢ i R T B2cbe ok A e o
(h) What was Welt Politik?
a7z AR o
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Group-B
fAem-4

Answer any four questions from the following

oo @-cital 51afe etz Ted wis

Was the role of the philosophers crucial in the French Revolution?

~ g R e sawie ) ewged &e o

Discuss the achievements of the Constituent Assembly. Did these preserve
mainly bourgeois interests?

R e A 3@ @2 Rl § e e il e

RN 9 )

&
~

What was the Continental System? How far was it responsible for the
downfall of Napoleon?

TR 7 R f8e ¢ (AR SiorT e @R I Fedif Wil few o

How did the spread of nationalism in Europe in the first half of the
nineteenth century destroy Metternich’s system?

mew\nwmumwmﬁmﬁaswww
e 9

i

Make a comparative assessment of the unification processes of Germany
and Italy.

2oifel ¢ wiifia Gt i 7iba Qe Yo S

Why did the Industrial Revolution first occur in England?
st Rz (7 TS @R 9 9

Give an account of the reforms of Czar Alexander-II. What were the major
limitations of his reforms?

o [ae T SireaeEd Iei R we | B menelFg ey Aueaet St

et 2

How was Europe polarised in the late 19th and the early 20th century? Did it
have any impact on international politics?

T werad it aR R Wor3a 2w 2ot o i [eifere grafee ¢
WGP AEANGTS F G (PITA LS TG RE 9

How far was Germany responsible for the First World War?

2l e oy Sl soifa wif fee ¢

20x4 =80

20

12+8

6+14

20

20

20

14+6
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Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. eNfE FaE g U ‘2"75?771' foci ®3 1
Candidates should answer in their own words AV (TG G T HGI AN T
and adhere to the word limit as practicable. Beq Il

Answer Question No. 1 and any four from the rest

e 72 o 32 5= (-l 51916 v Sed we

Group-A
-+

1. Answer any four questions from the following':l 5x4 =20
fferie @-i 51l e T es
(a) What conditions were imposed upoanennany by the Versailles Treaty?
oig pfer Tt wfifig Bo & R 1 il w21 zuafee ¢
(b) at was the significance of the Dawes plan?
IS ARFTAIG FY & 9
(¢) Why did the Nazi-Soviet Non-Aggression Pact (1939) fail?
o NSN-ERTTS ST 5 (S50 ) I 2R @ 2
(d) What was the significance of the Spanish Civil War in international politics?
SB[ TGS (SR T Oied [ e

(e) What do you mean by ‘Berlin crisis?

e 135 FeT0e Gl 6 e 9

(f) Analyse the significance of the Munich Pact.

-~ TS pies ol S et |

(g) Explain the importance of the Marshall Plan.
et AT EE Siesid P T |

(h) Assess the role of India in the Korean War.
IR Y07 OHTed SRR e T |
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Group-B
Rott-2

Answer any four questions from the following

f=feie @-@e sraff evia Ted we

Analyse the importance of the Locarno Pact in European Politics.
SEEI ArEIers @RIGH 5 (sve )-2 @y Resas s

Explain the concept of appeasement. Would you justify its adoption by
Britain and France towards Fascist countries?

(S-S e I T wRm (el afe JFoa ¢ Fism oA
aizet & gfi s wat ¢

What do you mean by ‘Cold War’? Was it essentially a clash between two
contending ideologies?

Bt FTefR Ters 6 @ 2 «ft ) v i 7 Ramsi somed sk e 9

<
How did the Soviet Union establish its hegemony over Eastern Europe
between 1945 and 19567

S58e-dpey TRNCH Ny EHforTe Rofwaw fRcet =4 2ot o7 a{mﬁw
R 9

Explain the importance of the emergence of the “Third World” in the post
Second World War international politics.

WWWWW@NW@W@WWW|

e

10.

3068

How did the French Colonial Empire collapse in Indo-China? Explain the
significance of the 1954 settlement in this context.

2B [eng T 8o i wiEey (ore orelRe ¢ @3 e does e
AEI Sl A FC

How did the rise of Israel as an independent state create problems in West
Asia?

HI8= g B Teacea R «Fow «fam e weme R 3@ ¢

Analyse the impact of the rise of Communist China in international politics.

SO ATANSLS FAGE BILa O &S] [z T

L]

How has the rise of terrorism affected international relations in the twenty-
first century?

FEPRITE T [FOII (R S NS o 70T 2oife 0T 2

20x4 =80

20

10+10

8+12

»

20

10410
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20

20



B.A./Part-1II/Hons./HISA-VIII/2018

vt P

WEST BENGAL STATE UNIVERSITY
B.A. Honours PART-III Examinations, 2018

HiSTORY-HONOURS '
PAPER-HISA-VIII

Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. 2NfeE TNT Fe07 T 2 et P
Candidates should answer in their own words AT [ACe ST I TG NN W
and adhere to the word limit as practicable. Be7 IR
Group-A / et
(X Answer any four questions from the following: S5x4 =20
fsferfie @-coieat s1afs efvss Tas mies |
(a) Write a short note on Canton trade.
P10+ ey s wfS R it et |

(b) Discuss the role of Commissioner Lin in suppressing the opium trade.
ST A 0E SRR rea giret S st
(c) What was the significance of Hundred Days’ Reform in China?
w3 Bite =1 faeTa Wi Sresrd ) fage 9
(d) Write a note on Yenan experiment.
~ A oA R @3 f Bt el
(¢) What was the chief feature of the Boxer Movement?

™ T3 Rvaiee 35 @Y 9 R

(f) Determine the status of Samurai in the social structure of 19% Century
Japan.

Tt WSt ST A FIHTITS AREma SrgH A s
(g) Discuss the causes of the Russo-Japanese War (1904-05).
F-TIol 0ad (dd08-0¢ ) T ST Sl
(h) Analyse the background of the Washington Conference (1921-22).
T oniRRE AT (55R35-3% ) Cerwief Rreme Fwat

Group-B / f@@in-2

Answer any four questions from the following 20x4 =80
fsfeie Q- 516 e Ted nie
2 B “It is not without good reason that China was sometimes described as a 20

‘Gentry State” — Explain.
B P I AP DS P8 FAAE (TG AT’ Io7 7O A — I FEE
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Analyse the socto-economic causes leading to the Taiping Rebellion. What
was the significance of the rebellion in political history of China?

wizfR Rl Aiites-adafos FreeR R @ Sier aaafes 2o
@3 Rruizs olead H o

~ Was the Tung-Chih restoration a real restoration?

w6 2o 6 qe spetemor foret o

Discuss the nature and limitations of the Self Strengthening movement in
China.

AN Siexife Sitvieitad @3S ¢ Mt Qs St |

Explain the background ‘of the rise of Communist Party in China. Identify
the causes of its ultimate success in forming the People’s Republic of China.

B e AN Baa gl e T o s sderred B efodi
orega @2 2iifba FreEn FEe fAoet FEmn

To what extent was the merchant class responsible for the collapse of the
social structure of Tokugawa Japan?

BIFatel TeiTaa A PO (ST AT Goff I TN FO6t Wil fRren 2

“Certainly the constitution (Meiji Constitution) was framed by men of a
strongly authoritarian turn of mind” — Comment.

“sfagml (o wfiae) Moo g v aewai aPrrer TgEz ks
TR — T FA

Analyse the pattern and characteristics of Japanese economic growth in the
post Meiji restoration phase with special reference to the role of private
enterprise.

(& 2jete gt Tegeicd fets SR iR Boa Reiy ewy Mo wieim
oS Rt St @ w3y R s

How was the Anglo-Japanese alliance of 1902 formed? Would you agree
with the view of Fairbank that the alliance marked the end of Britain’s
foreign policy of ‘splendid isolation’?

sho} FNEH 2w pfe e wafde zrfet ¢ o & craars «a sw
awmaﬁ%ﬂm?%mﬁ%%m“mﬁﬁfﬁ’a
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